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1. It is thought that many of the diseases, which are
killing people these days, are caused by all the ......... in our
environment.

1) resources  2) situations  3) pollution  4) absence
2. The game completely ........ all my energy, so | was too
tired to do much afterwards.

1) absorbed = 2) converted 3) collected  4) hatched
3. I couldn’t finish reading that interesting book, so | took it
to the library and ........ it for another two weeks.

1) recalled 2) renewed  3)reminded 4) reviewed
4. That proposal may be away to ... two birds with one
stone, but we also have to be careful not to get greedy and

......... everything.
1) kill / store  2) hunt / spoil 3) make / roll 4) kill / spoil
5. This ... device enables deaf people to telephone the

hospital by typing a message instead of speaking.
1) constant 2) voluntary  3) portable 4) equivalent
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6. The owner of the company was satisfied with the .......
improvement in our sales figures over the last two years.

1) gradual 2) technical  3) changeable 4) invisible
7. Many people are really worried about the introduction
of the new tax rules by the government. They think it will
affect the ... economy.

1) origional  2) immediate 3) entire 4) actual
8. Some psychologists believe that it is not size or age that
......... children from adults - it is responsibility.

1) selects 2) separates  3) compiles  4) organizes
9. The educational committee of the college is meeting
next Monday to consider Mary’s ......... for giving her another
chance to complete the study.

1) expression 2) demand 3) element 4) identity
10. We were waiting for the things my father had sent from Rasht
but the heavy snow yesterday delayed the ...... of the parcel.

1) resources  2) success 3) serving 4) delivery
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You can solve this math problem easily. (polro dloz)
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| had not gone out when he came in.
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They had finished their homework before the film started.
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Before the film started, they had finished their homework.
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| had done my homework when John arrived.
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When John arrived, | had done my homework.
(o5 0] PWI | @i (10 s, O (P
odlw (ol because =) ol

Because s olo, 03w (ole
| was sad because | had not passed my exams.
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Because | had not passed my exams, | was sad.
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After L=y (Lo, 03w (olo
| went to bed after | had brushed my teeth.
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Ater | had brushed my teeth, | went to bed.
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1. lam certain that Alice ....... her homework before she ....... TV.

1) is doing / watched 2) had done / watched
3) did / watched 4) had done / watches

2. The teacher advised that the easy questions ........ first.
1) must answer 2) is answering
3) should be answered 4) has been answered

3. The manager orderd us the project ....... before we leave for Italy.
1) had finished 2) must be finished
3) are going to be finished 4) had been finished

q. .. Thomas played a CD, he had plugged in the speakers.

1) But 2) After 3) Because 4) Before
5. Jason drank some tea after ......... himself a sandwich.

1) he had made 2) he makes

3) had made 4) made



6.Martha ........ very tired because she ........ on the farm hard.
1) is / worked 2) will be / works
3) was / has worked 4) was / had worked
7. 1 don’t know who broke the window but | think it ........
immediately.

1) should replace 2) must be replace
3) must be replacing 4) should be replaced
8. By the time | got to the office, the meeting ....... without me.
1) has begun already 2) had already begun
3) already had begun 4) has already begun
9. The children were very excited because they ........ to the
circus in the afternoon.
1) had been taken 2) were taken
3) must be taken 4) had taken
10. Last week, all dry leaves ......... by the gardener to set fire
to them.
1) are gathered 2) will be gathered
3) were gathered 4) had gathered
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For many environmentalists, the world seems to be getting
worse; they have developed long lists of our main fears:
that natural resources are running out; that the population
is ever growing, leaving less and less to eat; that species are
becoming extinct in great numbers, and that the planet’s air
and water are becoming ever more polluted.

But a quick look at the facts shows a different picture.
First, energy and other natural resources have become
more than they were in the past, not less so, since the book
The Limits to Growth was published in 1972 by a group of
scientists. Second, more food is now produced per head of
the world’s population than at any time in history. Fewer
people are dying of hunger. Third, although animal and
plant species are indeed becoming extinct, only about 0.7%
of them are expected to disappear in the next 50 years, not
25-50%, as has so often been predicted. And finally, most
forms of environmental pollution either appear to have
been exaggerated, or are transient-associated with the early
phases of industrialization and therefore best removed not
by limiting economic growth, but by speeding it up.
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For many environmentalists, the world seems to be getting
worse.
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But a quick look at the facts shows a different picture.
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Which of the following statements best describes the way
the information in the passage is presented?
1) A number of problems are listed and then followed by their
appropriate solutions.
2) A dangerous situation is described and then its main causes
are discussed.
3) A main point is made and then refused by the incoming in-
formation.
4) A conclusion is mentioned and then facts to support it are

included.
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It can be concluded from the passage that those who wrote
the book The Limits to Growth believed that energy and
other natural resources ......... .
1) are endless
2) would soon be used more suitably
3) are less than they were in the past
4) can be used to their full capacity
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But a quick look at the facts shows a different picture. First,
energy and other natural resources have become more than
they were in the past, not less so, since the book the Limits

to Growth was published in 1972 by a group of scientists.
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Which of the following best describes the author’s opinion
about the extinction of animal and plant species?
1) Itis not happening.
2) Itis a true event but can be stopped very easily.
3) It is happening only to those species that are very weak.
4) It is happening at a much lower rate than it is said to be the
case by some.
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Third, although animal and plant species are indeed
becoming extinct, only about 0.7% of them are expected to
disappear in the next 50 years, not 25-50%, as has so often
been predicted.
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The author believes that economic growth ......... .
1) should be made to continue faster
2) is only in its early stages of development
3) does lead to pollution, but it should not be stopped anyway
4) may not omit pollution but can prevent it from becoming

worse than it is now
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And finally, most forms of environmental pollution either
appear to have been exaggerated, or are transient-
associated with the early phases of industrialization and
therefore best removed not by limiting economic growth,

but by speeding it up.
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